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(i) Bag @ z3emdcO 88nd; wewsim.

sTebaur aflerrésens@h allor SEs.
Answer all questions.

(ii) 1-40 eo? gadmde (1),(2), (3), (4) B8s,08s BOGSE emd Dansy ®eesn el 88nd eaddh ozim.
1 g 40 wapyeier RarGeum allermallgyis (1), (2), 3), (4) erar erawienfiLUUL L. alenr semad
Filunerg Sedovg WS QUIGSSIOTTS eTar BiEiser SGFid PG aleoramws QFHayCeFus.
From each of the questions 1 to 40, pick one of the alternatives (1), (2), (3), (4) which you consider is
correct or most appropriate.

(iii) @90 wwesn god vyed O O gdma e & S 90 gnedy 83 evid o 8EDEE Fomwsd
eeen DO e (X) e ewcHn.
aloLggreles 2105 Qsfabe R$s aehedar 155 useny. (X) @@s.
Mark a cross (X) on the number corresponding to your choice in the answer sheet provided.

(iv) 09 crind vped 8goen 8 ¢8 gomt cwect ¢ EBECO ozim.

aflen_ggrefer i 1555580 Gevdsinrer 9 B0y misgse Sl Hehenerr. Soubemms FaIGTLOTH Uiedi s iynya.
Further instructions are given on the back of the answer sheet. Follow them carefully.

. &06um "89" wemonslest son oens $0185 eSS ¢
ebeupmaener ‘s ow sGug Lidraigeera et g 7
Which of the following gives the pitch name of notes?
(1) clef (2) stave (3) sharp 4) flat

2. B oD 80 "eesBedinl” dmist swe ¢§80 cednm 606w Oxlersd swm &gt JOo8s Ot ¢?
B wermppeighs ‘@etGoraer’ 48y Qonan(Gaigsd ebaigib Netrasgeteres pmeir e1g) ?
Which of the following is a note lowered a semitone from B flat?
1) C (2) B natural 3 A @) Aflat
3. D 9¢ "Osfwre®izt PEBOCTID” Ovler? vwn eensd 0085 O a?
D @Qar ‘craranriGuiens mégauemer’ LiaraGeereppel erg) ?
Which of the following is the enharmonic equivalent of D?
(1) C flat (2) C sharp (3) E double flat (4) E double sharp

4. G degd 00 derd wwe OB ocst 8% 6D Sort 2O wwm wewst JOIBH O q?
G 2Qerai evpner @er Sp wswrarg Geogs @er gh (WG Qevgy eeer Gmrl @ar GLiwg
Lissreu(peueorey poyelr a1 gy ? '
Which of the following is the letter name of the note on the second leger line below the staff of G clef?
(1) D (2) E 3) A (4) Middle C

5. o8 S B8® povst cxivies? son Gews 98z nes ¢?
- ung @erdelr Welid 3 Qevens @U@ Ui Gasiapreh g ?
Which of the following indicates 3 minim beats in a bar?

O 3 @ 3 3 3 @ 3




10.

11.

12,

13.

14,

166 oBY® 8udesiode 08s ¢Wosler swn Gews IO8s O e?
i% oy AsGerérs Gemred GPUN LUGVE e Guearappel o) ?
Which of the following is indicated by the time signature 166 ?

(1) 6 quavers in a bar (2) 2 dotted quaver beats in a bar
(3) 3 dotted crotchet beats in a bar (4) 2 dotted minims in a bar

63826008 vund ©im Osles vvp tews $08s O ¢? 1
QelrsgLeasat n @hes sworarg LaragesTapoet og ?
Which of the following is equal to six semiquavers?

o) r @ p B f @ ©

B dde® 80 cddst wnds gifisd elent sun wews 8008z o ¢?
B wennprielmha prerg Guietser jmed DI BBGLILIG) ey Beseras el 61 g ?
Which of the following is four tones away from B flat?

(1) D 2 G

(3) F sharp (4) G double sharp

A Je© 80 E ¢80 gziolog dm son tewst 08z 2} ¢?
A Uen el E arevgyeiren Gei@rieuss Uerargoserespyer g ?
Which of the following is the interval from A flat to E?

(1) Augmented 5" (2) Diminished 5% (3) Perfect 5% (4) Major 6"

23600 Snwd 8 uiobod dn sun tews 308 KOS ¢?
R&CBral g ey Quiu BearBrrared Lisvreupetaar poyelr 61g
Which of the following is an interval larger than an octave?
(1) Compound (2) Simple (3) Harmonic ’ (4) Melodic

"eBY cudrin” dmm @Rbnst O Oxtest o esgs! S008sY pda ¢?
‘Cugr 7 @ QarGaigoar s jevwarg Jeranmarsas el 15 ?
Which of the following is the inversion of a major 7%?

(1) Diminished 5" (2) Perfect 4t (3) Minor 2

BIeOHIOD Jud Vet Oziery Bwm gwsd S08s @ ¢f
ferargaieros el @EGuostrol. guh erg ?
Which of the following is an Augmented triad?
(1) 3 notes having a Minor 3" and an Augmented 5"
(2) 3 notes having a Major 3 and a Perfect 5%
(3) 3 notes having two Major 3 one above the other
(4) 3 notes having a Major 3" and a Minor 3" above it

OB Jud - cwwid) grivbemt dwnl Ouies? wwm esgs’ S008s 2@t ¢?
Quein g @erBaujsar Qe ewery puwr Netraigeusral poyel 611 ?
Which of the following is a minor triad in 2™ inversion?

(4) Augmented 3¢
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) @ &)= ©) o—1 @ [
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& B Zud O Bednd emedslest wswm &8 O8s ¢?
SoUulL gul &g efesfliiig) Ledreugeserar hHmyein ergy ? A |
Which of the following describes the given triad? i1
(1) Mediant triad — B® major (o) :
(2) Leading note triad G minor 9] )

(3) Dominant triad G minor
(4) Tonic triad D major
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24,

e0®n5I0 O it dmet Dulest wom ey SD8s o ¢?
QumBererp Qeeuerd @er Gprl etraimesareupmyer T ?
Which of the following is a chord of the dominant seventh?

A & A
m ﬁ—» @ ®) )ty @ #,
©© &Y A—% NSV,
PY) O _ e) e 2

6d 6830 ol dmm 0Ed EIOtns S cvN® HmOsles vun tews $98x O ¢?
sUQLmMBererp Gar. Qe wpswrug QeGauisar 8é GOUUGWS Uaragaiare e o5 7
Which of the following indicates the First inversion of a Subdominant chord?

1 I @ 1ve @ v @ ve

E ®850¢ 'gd wecis dmm ol 62D Dzfes vom eens emddEO8st nds ¢f
EQugy ‘Auye @lermen’ Gar Gued GoTL @& yemiowdsmiy. w g t_nsa‘rsuqyub Cpniet @ev erg ?
Which of the following notes will be used as bass notes for a full close in E major?

(1 E-F 2 E-B 3 A-E 4 B-E

& B S008s emmigesa Swt Ouler wun wewsd S8 o ¢?
Llediaumeusreu Hmyeil QUTGHSTSS g 7
Which of the following is the odd one out?

(1) Major scale (2) Pentatonic scale

(3) Harmonic minor scale (4) Melodic minor scale

0Bm maon tadd O cosind mizes’ vws & g8 30188 OB &

Qe g&oth Qarp TupsLILILL al@smed GrSs) vweTu@RSgieuy heralGaeres Hryelr 6rg; ?

Which of the following is used to indicate the scale in which a musical composition is written?
(1) Italian term (2) Metronome mark  (3) Key signature * (4) Time signature

B 8desIOCum e 5 o gufent swn wewst 08z O ¢?
Ulesraupaueuios pmielr & A&Gendeled Leninp sbdener o enwg o1 ?
Which of the following has five flats in the key signature
(1) A flat major (2) B flat minor (3) B flat major (4) E flat minor

F a0l eBaloe gouticoifls om Oslest vom & 48 o &2
distreu Gouereupmyelr F eyt Guoggr &L Gorels ergy ?
Which of the following is the supertonic of F sharp major
(1) G : (2) G sharp 3) A 4 E

dersd Omm BefBe 5 gomadeBs 2 etes vom & ¢B pom ¢?
apeirpy Gaipuile weopsefids A7 Y. AN ewBsw Qb sremIL@G Uatagaieespryeh erg) ?
Which of the following refers to the same degree in a scale in three different ways?

(1) Dominant (2) Tonic (3) Mediant (4) Sub mediant
Fah Doh Soh Lah
Pa Ga Ri Dha

& B IO @uleld O wwEst Wl cAecsies Bun tews’ WITLORS OB ¢?
gL @eter Gpriad Gear @4Grar Gaurery Ralenw UPEIGD SGelt LisreuGeuenalHmien 6Tg) 7
Which of the following instruments sounds the given notes an octave lower?
(1) Violin (2) Violoncello (o]
(3) Viola (4) Double Bass

| L
¢

0O OB apnedst weEdy cAver! tvn wews RO VIENS 7
‘gib gib’ erem QenmisneELu@GL sGal et moarespoet g 7
Which of the following instrument is also known as the Tam Tam?
(1) Timpani (2) Gong (3) Bassdrum (4) Side drum
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25.

26.

|27.

28,

29.

- {30.

31.

32,

33.

34,

35.

‘grimed” gfent weed vwm wews! O emodes ¢f
anged “Lley@” (Qersad) 8s Ganesig Uug Usremesarepnel g ?
Which of the following contains the “Incus” in the ear?
(1) Outer ear (2) Innerear (3) Middle ear (4) Auricle

0l 60 oz emaodes svn wews RO B ¢
R Iyoavsel prBLE AP WNSH LNevreFeueres dmieir o1& ?
Through which of the following cannot sound waves pass?
(1) Vacuum 2) Air (3) Solids (4) Water

‘50 c0dg’ Om BSSe mog o wews ©:Bnrls §reds WOSH ¢?
“Minute Waltz” @er wps@ers DerergGaunger wrs ?
Which one of the following is the composer of the Minute Waltz?
(1) Schubert (2) Beethoven (3) Ravel (4) Chopin

@Rl ¢we DE TIHODO HBOrenn D¢ -8n eI vwm vz 0185 O &?
R Quatiemenr urgTReugHans JSBsnaies Solnemeh Geug yssh Lo mesare pojel erg; ?
Which of the following is a work Beethoven dedicated to a female admirer?

(1) Farewell Sonata (2) Minuet in G

(3) Fiir Elise (4) Eroica Symphony

By wrlend BGdd gtiow eizlest swm st G083 @R ¢?
‘Y’ Qe qhrsanimss soeag Usraigeaetapnet g 7
Which of the following gives the opposite meaning of “Piu”?
(1) Meno (2) Poco (3) Adagio © (4) Mosso

8 walon "HO8d" On cuip® wisler! wun wewst S0Bs O ¢?
Pessgiening o ‘avenge 8é GPUIGUS Uetugaerapper urg ? -
Which of the following indicates the style of a piece of music?
(1) Allegretto (2) Alla Marcia (3) Pianissimo (4) Forzando

"e0Jg0es 8" o BSoeiues Orert sum e J08 O ¢?
“Caunever A" Do ybab Uetasgaerephes wrg ?
Which of the following is a composition of the “Waltz king”?
(1) Waltzin A flat : (2) Merry Widow Waltz
(3) Blue Skirt Waltz (4) Tales from the Vienna Woods

"858nd 88" O "98ctdd" O8s OB Se3Oadwrs Ogmys eOvies’ wum tgos S0085 p®n ¢?
‘Uerdiued g’ Qe ‘aqunism’ (elewms) @pe BeLid Lew wan BgrHo Qumeug Ui geareT
aupmiet ergled ?
Which of the following has the principal theme appearing several times with episodes in between?

(1) Binary form (2) Ternary form ~ (3) Rondo form (4) Sonata form

D60 §0-@ Ovlert vum & §8 I08s nos ¢?
etreuGousaspmien e1g; @UBgrafsd smearliLi@ih ?
Which of the following is found in an Opera?
(1) Lied (2) Aria (3) Sarabande (4) Gigue

Bogwrs emdded som € 8 o &?
Uletresgeusras el e1g; ‘FUunst’ ez ?
Which of the following is not a ‘Seepada’?
(1) ‘Pal Gee’ (2) ‘Sarala Gee’ 3) ‘GalGee® - (4) ‘Paru Gee’

“@uIeddGe®u0F ByBa" 0D ¢if emomn vum & S I8 o OBww OB GesBE ¢?
‘QatebesGuoar o ByAs @ed yoawpeier @uarrs @@Uler el WBaseb o GG QSHTeNen Iy g
LRetraupeuasas hmier 1 g 7 :
Which of the following would be the most appreciated if one is interested in instrumental music?

(1) - Sonata (2) Oratorio (3) Ballet (4) Symphony

A S N S A R P T A S s
[ 6aoD8 890 Beaa. /usad gkms urgss /See page five




® 36 80 40 <390 & von 8 HB B O On v¢md . .
36 Gansad 40eegysien aflewngser 48 sooulL Qe QUL &Y. ULIDLWUTSE Q&TeiLamal.
Questions 36 to 40 are based on the musical extract given below.
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37.
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39.

40.
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:Bm dedded 'R O vuvm & ¢ J008s 9O ¢?
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Which of the following is the key of the passage?
(1) D major
(3) E minor

(2) F sharp minor
(4) A major

2:8n deiDed 1 VOO dm vwm T #18 JO8s @ ¢?
Qensls QuupLier Qe LNereu(seuares pmier e1g) ?
Which of the following is the ornament of the extract?

(1) Acciaccatura (2) Mordent (3) Appoggiatura (4) Trill
58 23O guo® oLy O8® 8esiDss swm € g S8 @ ¢?
sovurL @eel Quuiiler 18s0 QurGsswrer wgulih ASerdsy LNereupaseras HeT g ?
Which of the following is the most suitable time signature for the given extract?

2 3 3 3
(1 4 2 2 3 8 4 4

"Heties” O8%3 ¢Osles? vwn wews? 0857 @ ¢f

‘Aavget’ @ernes @O Ou@eug) Ueeumeueas pmien 61 & 7

Which of the following is indicated by the slurs?
(1) Dynamic level (2) Tied notes

(3) Connect (4) Detach

2:8n el §Owom edsisw Ozlest vun wewsd J08z pt ¢?
QL Quuylier @oiHuicr o eten FBLerar Lerasgaieres poeh erg) 1
Which of the following is the cadence at the end?
(2) Imperfect

(1) Plagal (3) Interrupted (4) Perfect

SR ARSI
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( BeBow (qudeo) I, 11
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LB (ude®) / smdgib (BuwarewgGgu) / Music (Western) IT

f< 0eg0n guned s 5O yuEm EdHO 88x0; ¢® vyed @ twsimy
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# g alerredg Giogyih mrrevr aferidsenses @ssrefBalu el senen TP .
* el swmen @ Quomyulled wrSATC 67pgSed Cauami(iLh.

¥ Answer question 1 and 4 others on this paper itself.

#  Questions should be answered in one language only. J

B® gotnes
&1 Gl_evor

Index No.

L () oom ¢ g8 ©8n aeio oqort O6E g, D9 0168 Budc BOGE 6 s B 98 nOn Busis.
#Bip goLiu@elenr Qeved sl Qo Ulenpuneranas. b Lienpaelr  eTebeauime favpuith SGE8 sriuLHeien
B sded esiBid 6155,

Given below are 2 musical illustrations which are incorrect. Re-write them in the space provided correcting all

CITOrS.
I
(a) =) — Ko
e
d vV
A T
—g I
(b) 4
Q) R g

(i) & a8 b om 968, Seed BoO el OB,
STLLC@een @ens ung oo SUDTeTg| cTew aflen &g,
The given bar is incorrect. Explain why.
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0B, / usad gepr Lnrss /S, e page seven



(iii) BOSE Weas 39 08» S Bedd w-Bn wIEDed BLE® o Q0e® 05 Bwa ¢xOzim.
swuaer HAGQenar gLt uwafru@g,@ QBunr @eir Wik STPESHID Crriet Qeverd SR,
Notate the lowest and the highest notes of the oboe using the proper clef.

(iv)

)

(vi)

(vii)

(viii)

(ix)

®

"eBSY erdc Vet w0 DB OB terld Sers 8D e2dd" 19, OO . @ Budm 08¢ 0168 ¢?
“Gugy eiGsaler ohg.m Gnm. yser Gurefiss ouoery oiGaeder afigmr Gprientt Guiang).” Glémbny o edenumeTsT )

@uimdnurresgt 7

“The leading note of a major scale is the same as its tonic minor scale.” Is this statement true or false?

........................ R T

2 o8 ¢uiotod O “ewolY" nd »® wiwim.

sooue @eaGraaier ‘QerGar’ Qower afersd Ssar QUuTE GSPUILIBS.

Illustrate the inversion of the given interval and name it.

e30000EDecd e3eBmegend OB Dwews! ¢Oetd Oz OOm §uO ond =08 ¢?
26 prefer aiprsde Qupass seevesy GUELLTEYD apaliiug ? )
What time of the day do the ‘Musicians of nature’ entertain us mostly?

650z¥edd coft® Smd gun Bn AeDHE »d wiuim.
@prerGLr 2 paled o.eien Qevssd geawig mery QuuARS.
Name a piece of music in Rondo form.

Bmedf ‘ddelied O cueg mdtlest emetd ¢f
Qavguled ‘UBped’ eraiauny GpulLu@RDpS) ?
How is a phrase marked in music?

200080¢ WIdn Bém ¢S ecws »® wSuim.
Breaw’ Qe vweru@ssLLGL BreH® salcsment QUWAEGHS.
Name two drums used in ‘Nadagam’.

300 povsl ewegn WHOHIO dm eeenin ¢SOz,
Cprcied 3 @emens Qoredi RrarQuerp Der wear 8é GOUIGS.
HNlustrate the sign for an ornament which involves 3 notes,

.......................

.......................

[60ce8 BQ0 Reak. / ussh stelt ungds /See page
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2.

(a) son wgws? gudn Bl 0o delc BB 0 BB, ge0 g sEHOCO ¢dws of ¢=O8x! BErG; tuwsim.
Uiefiaugd aflernéser & 2L anbd eVGsed 1y dAred 2.Lgyh QFIL UL eal. (Bmwnsmummés SOLAL®,
Salaflewnsaend alvr &(5s.

Answer the following questions by illustrating what is required. They all refer to keys and scale degrees.

®

(ii)

(iif)

(iv)

4]

3719 | Index No. :°

Ffecd ©0o8n 26828 C ool 888 8 B Scdesiol dm

F &#Gerar g1 vwetu®@ss Caymril owery @ar & AsGeardey.

The key signature of C sharp minor using F clef.

G e ©8m 68z B 35 Bl 8 S B8emdl Om

G f@enar gu1 LweL@SH B dennp Gugy & HAéGersay.

The key signature of B flat major using G clef.

1060 wecd ©8m w8zt IOt o G B B o8 3BwO eodd dm

BT HQena gU LweTL@RSH Slennh 3 Qe Gugy & Bled g werh Crm

The mediant note of the major key having 3 flats using alto clef.

OB wlecd wIdn wE8s! @iy vwE ¢S O8oY B Serf @8- emdd A

Query HQenal i vwetu@RSSH ey S Qar ewery & Qe Sum BETL

The leading note of the minor key having 5 sharps using tenor clef,

eQRE Secd wiBn OBz Vet Ve B B B Lot IR OB ded LABVWHD endd dm
Ggiler fQenar U LweL®SH il Qearfer Cugd & @er Ggrens ewery @er sl wern BpL
The submediant note of the tonic minor of the major key having one sharp, using treble clef.

@ (ii) (iii) (iv) W

(b) @0 B 688 dedded Buzim.
Coemauwner eBHe0al & 6T1PGI%.
Write scales as required.

®

(ii)

’

883 & grulent eR8msd OBz sOTosizn B8 eld dnB. 99 dexld det B S »® WmSuim.
QumBewesrhy @b QoTLmEGD Guwgr el Ky soo @Gerengs. kg alBsaler & U Quui(ps.
Given below is a major scale beginning on the dominant. Name the key of the scale.

08 c¢Sc3D B8 et Om guedives ec 62000 OB e@eoBs 6ed® Semzt ¢S Sems? @5®w
On oed B BdesiDl wiBn 968s Busim. eevdeddss CRE BSBIB.

MBeupper eowery ab@salelr Qg m GBuTEGFnH Beb QuBevmg & HBumb Qerper Gumels @)eir
QgL ssgdeaner & ASBerdsagl LLSTLRSH TWgis. FOBTraet @ GRS,

Write its relative minor scale ascending as crotchets in Melodic form beginning on the tonic, using the
key signature. Mark semitones.
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() -C®d 0Bl dorsd "Ostnnc@iB @EOcsld demsl Y tewdd O T 48 8d0s »B8m0 »S ¢deCTns

(a)

®)

6ce, & @B wWeed Yensd Busim. §iBedmOd vi8m wiTH. cesBedist ey wsIm.
Ceovngy Gugied Qe ‘‘ereranriGurefiés mégameern’’ Gugr ev@sealed ot AFD U LRSS
W Qeangm RPeeEdd grliulL £Qenal @e) TwWss. YSFAALeTEr LwLGSH @FiGgneret @6
GIaOES :

Write the major scale which is the enharmonic equivalent to C sharp major, descending, using the given clef,
Arrange the notes according to the given rhythm pattern. Use accidentals and mark semitones.

A PLIPTCIrTT o

=] R

& 8 edeed wEmd ¢ 988 005 OROD epol 1 Busim.

SoULILL ubBulled Sy &5 sTpsgisaned srLiLlReren B AwE QFTHEEESGIL B SSTalw QETHEmET 6T (PSIS.
In the following paragraph replace the English words written in bold with Italian terms.

“This melody is to be played (1) at a moderate speed. Start in a (2) moderately soft tone. After the 4th
bar (3) get louder gradually until a (4) moderately loud tone is attained, (5) gradually getting slower in
bar 8. The melody gets back (6) in time to the original speed. Play the next 2 bars in a (7) short detached

manner. End the melody getting (8) softer and slower (9) little by little. Repeat the melody (10) from the
beginning.

Italian terms:
(1) soneesspsoms s e R O (0) sy
(Z) e e () e
() wrererneirie et e 725 R . et
() romisiiis s R (9 sumsmsrGRTRTERRRR SR
(5) v e (L0)  eereer et e

59 gmoB ¢ OB 6 € ¢S ©-8m el Oigzyes BB wewr cvegtd Drews ewicsis.
EBp soLILLL FESH LGHow BeasliuspEiu HPynssTs gn ‘@ssralu’ Qerpaeents NgGurss.
Now, apply 6 of the Italian terms as performance directions to the melody given below.
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@) ©® gadvend & 88nd; v,
erebeur aflarT&sEns@ allen. TG s.
Answer all questions.

(i) CcOE BBsS e3:8m AedDw Dzied ced® dems? RBSrews 3 &>, S 6we®zt §a68n 8 nPewsy cOwOx
eB. dw »®IH. ‘
gaueh @evedgienig enen plew o Gale 2elen gsderTy. Bg Gugeumer @oulunelsd bRy
pg Ly ung Geusnndug. Gs Hsssos0 QUUAG S,

Ravel composed a piece of music which is in dance form. It starts with a slow tempo and gradually
builds up the speed. Name the work.

(i) e®sOFerdsl BB Hb®ein nom c¢ duimdd 52 BESennd 3:8m emdess 0818w ¢uledus
e6m0 018m WEB. BV Py BB HPSuim.
Quoain_ciBs el Qe Qleve gyhamiast Hov Faps alpTSseNed LWLIG S IIGLD. @nsrs Bgsner ysssemsL
Qriuifips.
Name the major work from which the music is used at a certain social function. The composer of the
music is Mendelssohn.

(iii)_ B0 ©ed8 80 surd ©d ¢ B edenddl O wudy »HPmSsin.
STiphs RolielBHg e.ugeuTer Qafulled YrbuwrGh QrsGaTiet eamEser preardaar) QuUw(Rs.
Name four kinds of recorders starting from the highest sounding to the lowest sounding.

(iv) miomennd 0w clees egnd egws’ wSwm.
UnL&g QUBUGESG Youduioner @oen® el wmsments QuuHES.
Name two aspects required in a singer.

()  we Fesee T Tl ORIV T 2) A S A SRR
(v) O8s8w Suss wédert emets ¢?
dibuesfl (e LeseLiLBatg) eraleummy ?
How is the timpani tuned?

(vi) 38 O wIBn erumdnm YOOHD voedtin Rt ¢?
L @Qeb Lwerung eylefar sgelowl GLWHAGS.
Name a woodwind instrument that does not use a reed.

() vom wepst s-Bnwss? o nd s Busis.
aragh ydgagame unl AnGHuy aws:s.
Write short notes on the following composers.

(i) The composer of the 48 Preludes and Fugues

(ii) The composer of Peter and the Wolf




PICLICICEETES

----- N0 e el ensaes el eai e reenetisetdinssuenoseeetstersssoedie s auoenngessyuyeensersssivedasisauadsssssstesiaeinivessssees
D R R R PR I, Tresaes treerrnseranaen Cerrraeas B R T R T Cereernaen Cersresannaes veea
D R IR R I PN R R R B R R RN Tetrerrarraanina tesaee Seeene Srrieraaas Treenan
R T Testiesesenasanatitanns B I R T T
B R A S trerreraae D R R R sErsessisaranvaanaae D A TP P travrinanen
“rsesansean D R R R I P D PR B I I R PPN Seressrnenseabaninae Preeas s
B I R R R L R A S A Testiivsasenseannanns B R T R R
Srsreriverecana. Tresieerisenans R R I R R R tesrascasean
tesirecannane R N R T trerrserarasranens D T A R RN
D P R R P R N Vistensnanns I D versesrieetiaes
trernaen treaveansans D R B B R R
Sevesnnerinurnen EEEEEE] tresesttrnraneanen B I R I PR B R P ISR trerraeraee seneas

5. (@ F 9858 e sbeonld cxfdzid o & 8desidb widm =68 SATB EBGHI GLRIICBIHD el WwOBIs.
& AsBanssmpls LwaLGSH SATB @pne 2 CupuiL wepsefics Fawers @t GuiGUs FBLefred 2

Arrange the Perfect Cadence in F minor in 2 different ways for SATB using key signature.

b)) ge0 g cxdDsised ®Ben DSzIH.
SruuLL slLeabament yiss Qaurs.
Complete the given cadences
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2eH@pT HQenel yUI LwTURSS FTLILL Defren GuamaiBgu @ amesgui L S ipsBau Genss@ol . o
auwgs. ‘S8 g g Cyss sGzs.

Write the notes given in oriental notation in western notation using the alto clef, taking ‘Sa’ as Middle C.

6.

1 2 3 4 5 6 T 8 9
® ® @ ) e] o o 8 e
o & & w’ ] 7l U ] Lt

(ii) ‘co0fe eBned w Bon® wORS Bs 0B .’ ® Budn wap & qesms &?
“dapsGsuw @eveuled ‘o’ BoISSLIIL Smig wg).” G ésmpni o atieowweTsT ? SyerPl QUILTETST?
“In oriental singing the tonic or ‘Sa’ is movable.” Is this statement true or false?

@) g B Besiol wibn ©6 & ¢ OcHs "®ul HED" Bl Busim.
g & H&BerdFongy LUGTURSE SULIL L QuoBeumig uflesr Guogsr 3eugy Gevnau @QuBevmy ew gaeretGLimen
QFUIG) TIPS S.
Transpose the given melody a major 3rd lower. Use the new key signature.
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(a)

(b)

©)

(a) 8 @B c®c8s Dxgmw wewB HHSHD w-Bn vreddus ©® ndwts.
GuwBw (a) Qe sruuc@eion Qulany Qamear QasruusHE ejlelar’ swalleeart) CLILRAGES.
Name a woodwind instrument that could play the original melody at (a).
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(@) 8 o8 o®chu ‘¢DBednrl ec® Sewz! BIOD cwiton MmB BO BOS eIz WO,
BuoBev (a) @b oL Getien QuBamgeow ‘BaufiGuser Gurd’ @e By Qeeugmler Br LWTLGSSID AparD]
LPMSIET D SHUHS. '

If you are to rewrite the melody at (a) in ‘variation form’, suggest three methods you would use.

Coid ©@um ©800m -Gnun emides sun & ¢, B 6wy &l (¥) 5® oEn® ‘088 Scexiody’
tneBICO con @ wlyber 889 wem OcBn eHOBOE ¢R »EB, desdn wodw Busim.
g AsH Qupp e peamsersyg essaiud Gomsl ugd 48y sTuulPerag. @aQarsg (*)BLesdos
@Puh GPULIGLD ag AsBardsmgsd sGSHH Qarau e mwl UissH QeuasnE GuGemy
@ergCaimer 2. Gaunsds Cgmanear GHIL 8 wpgs.

Given below is part of a popular seasonal song. Taking the time signature into account at each asterisk (*
write the required note forming a melodic interval to complete the melody.

(1) perfect 4" below (2) major 6™ above
(3) major 3% below (4) major 2™ above
1 2 3
* * *
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e5idm (7) 38 oo ey WD S ©o8m 68x ge-md ®»SzIm.
Gaeneuwmesr QPUeTONOGTH RLI vwertGiéd QumGssorer Talg LIy Qever yevmsNdg Heoh CT(LPGIS.
Re-write the 7% bar decorating it with an ornament.

00 MO om O 05 ¢us; Bwo ¢OsIm.
Cupyriss Prar@uery Glear caraumy Qaosrss GaetiRGILOET 6 p)s.
Write the above omament as it would be played.




